[0.18]
[0.31] 45
79 1

84A2, 84AF2 SERIES ACCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Technical Specifications

. [1.14]

T

[0.46]
1 7

%[o 28]
7

[0.51]

13

[0 79] Lﬂ

Double Sheet Control Sensor

Part #

29,5 j‘[o 20]

Sensors

- -

[0. 24]
h 31 ﬂ

: NiO=ET g
§

[o. 20]

1.5mm Sensing Distance, M12x1 Plug 8EA-087-1 T-Slot, M8x1 Plug 8EA-109-1
[0.37] [0.26]
[0.30]
B
. 0.35
- . [091]  [0.35]
[0.91] _[o.
93 ‘ 17,5 @ N 3
e Tt [30.43] <
e - [0.96] 211 for M2
- | 24,5 [0_31]J _
@@ —" | 8
[0.33] , [0.28]
8.5 . _[0.1€] 7 [0.08]
P 2
. 031] TC— 1
[0.73] 8 ;
185 * *
Part Present Sensor Part # Jaw Part Present Sensor (84AF2 only) Part #
1,9mm Sensing Distance, 2m Cable 8EA-164-1 3mm Sensing Distance, M12x1 Plug 8EA-1024-1
1,9mm Sensing Distance, M12x1 Plug 8EA-165-1

Tips/Teeth (84AF2 only)

e

M8 M8 ! ‘
v 1 1
? THREADS THREADS 4 19 T< 0.27] T< E
4 8 ‘ 6 8 — <—M6
[1.59] [0 71] ].50 ,
40 5 v [0.31] [0.71] | [0.39600s] [0.79] | o < [0-39500d]
8 18 " i ] 9938, 20 ] ‘ } 9,99,
b ‘
| [0.51] b [0.59]
13 Y 15
[0.83] 7, [©0.63] > .
[0.55] 21 o16 2003 2115 [©0.63] |~ " @11,5
14 a16
8JD-062-1 8JD-1004-1 8JZ-124-1 8JZ-125-1
Dimensions and technical information are subject to change without notice SG-CTG | 26 @ESTQCD



84A2 SERIES AGCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Ordering Information

Steel Teeth
A
: | \
I
\
M4 . L L
Y= Lt cid - 19,9
—— ! A A ¢
Hardened Steel Teeth Part # A B Soft Steel Teeth Part #
Serrated 8JZ-049-1 9 5 Non-Serrated 8JZ-028-1
Serrated 8JZ-027-1 10 6

- | — - —[19,9
+ 19,9 }

' o '

Hi-Temp Stainless Steel Teeth Part # Hi-Temp Stainless Steel Teeth Part #

Non-Serrated 8JZ-085-1 Serrated 8JZ-092-1

@ESTQCD SG-CTG | 27 Dimensions and technical information are subject to change without notice

ASTABILUS COMPANY



84A2 SERIES AGCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Ordering Information

Plastic Teeth - Steel Points

f—
9.9 : | —
: M4
: 90°

10

| i oy :
$ t e C 199
Plastic Teeth Part # Bl Hardened Steel Point Part #
90 Shore, Serrated 8JZ-045-2 * Pointed 8JZ-029-1

Crown Teeth

18,8
10
LT 0 |
! \ ! L ' | Ne)
o s it
(24 " || M4
3 (24
29 18,8
’——‘ $M 9,5:005
,\I ‘ 2,3+00'2 |
o B =
S — 1, TET =T H-Re
- "’h T T A 29 5 0,6:01 |
10 °3 100,05 o
o
o For material thickness 0,9 - 1,2 mm
Hardened Steel Teeth Part # Hardened Steel Teeth Part #
Crown Lower 8JZ-036-2 Crown Upper 8JZ-038-1
10 10
o | . L&
S U1 N S !
‘ a M4
188 | (29 188 |
! 9,300 9 =005
| |
TIEL =g H~Re = =) R4
29 °f 06w 29 3 0,610, |
o oY
For material thickness 1,3 - 1,6 mm For material thickness 1,7 - 2,1 mm
Hardened Steel Teeth Part # Hardened Steel Teeth Part #
Crown Upper 8JZ-039-1 Crown Upper 8JZ-040-1

Dimensions and technical information are subject to change without notice SG-CTG ‘ 28 @ESTQCD

ASTABILUS COMPANY



84A2, 84AF2 SERIES ACCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Ordering Information

Mounts

[1.46]
[ 37

[2.22]

" 565 | 4

[S@1.26-0007] al

S@32-0.05

1 [0.47]
12

[0.6320008]
1602 SQ

| [30.26]
6,6

l'o

[3.74]
[0.6310.015] 'I 5
s L SQ [407] 024 _
d 9 49\
G
0T LY X | 075]
N O 9O ligsa
N OPO Iy
[20.22]
25,5 [521.2627]
- [2.36] | S@32-0.05
60
Mount Part #
Ball Paddle GT-BGA-32B

Mount Part #
90° Ball GT-BGA-A
[1.48] [0.13] 211 _
37,5 3,2 53,5 :
[SD1.26+0007] [1.75=0.008] [1.26] :
S@32+0.05 44,5%02 32

i

19,9

?

Ball Adapter

@ESTFICD

[2.00]
50,7

1 HOE

2X [30.22]

25,5

827ZB-131-1

SG-CTG | 29

[SB1.26%0004]

%5932%]
[2.19=0.008] L‘iﬁ
55,702 [0.16] | |
4 I
}7 [ [1.69:=0008]
2X [20.22] 4302
@55 | [0.95:0.004]
[0.75] 24,25:01 [0.79]
19 1 [ 20
!
' 0.8 [1.75]
4,5 44,5
[2.17]
55

@32mm Side Ball

GT-32B-84A2-L-R

Dimensions and technical information are subject to change without notice



84A2, 84AF2 SERIES ACCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Ordering Information

Mounts

[20.51]
[1.78] 1 RO22] ™ [T @13
45,2 / \ R5,6 i -
[0.43=0004] \ T -+ [1.90]
: <4 483
11201 ﬂt [3.03] ; : [1.40] [0.16]
\ [0.18] | 76,86 2X[20.22]| | : 356 4
4,5 @5,5 : ' ‘ |
f I . ¢ e — ma|
] || | | | |
+ -t i nas : :
] \ ] s : 6 = [0.75]
.16 7 e 07940001 : 19
4 1 343009 | ‘20+01 L : [ o
[1.65] 34,173 [0.79] ‘ [ ‘
42 20 — j
: [©0.79 8004] [0.9520004] 2X[20.22]
| | [SD1.26%0002] : @203, 24 25201 @5,5
S@32+0.05 . ' ’[2 -
: 55
3 Mount Part #
@32mm Rear Ball GT-32B-84A2-B : @20mm Apple Core GT-20M-84A2-L-R
[2.34] [0]-%91 : [2.34] [0.59]
59,5 : 59 5 7 15
[0.79] Ay (.18 Ty [1.18]
: . [020] [20.79] 30 . [079] [020] [20.98] '
20 5 @20 ‘ © 20 5 @25 | 30
| : | 5
e e e D=1 S B
F(u | 2X [@0.22] w : 1— |
2X[0.22] e s 2.17] L 2X[0.22] 12X [©0.22] |
55 250 | ' — s : 55 - s L 2371
635 ; L 250 ' 55
[1.74] [4.15] : 63,5
44,1 ‘ 1055 L N.74] [4.15]
L | E— C 44, 1055
[1.34 . ,7% : B | E—
34,1 : [1.34] ) 1
ttl:_ . 34,]

: B |
oot et o pui#

@20mm Rear Rod 8MA-165-1 @25mm Rear Rod 8MA-166-1

Dimensions and technical information are subject to change without notice SG-CTG ‘ 30 @ESTQCD

ASTABILUS COMPANY



84A2, 84AF2 SERIES ACCESSORIES

Cam Type Sheet Metal Grippers | Dimensions and Ordering Information

Mounts T
Both Included r \
‘?’ ‘)~ 1{_})"
[20.98] ‘-i
@25 [@1.18 3
Lo 234 : [QSO] - .
2X[0.22] 59,5 :
0.59 [0.20] L [@1.89] [0.12] [0.98] -
33 0.5 5 4X[20.26] : 3 [ 25
e |
_ ] @ i @j |
a | 17 i -
it R T
w 87] [4.39] /
= [%’5?3 | L - [15108] L[z%)é];J 47,5 1115 ‘ Pivoting
R0 _ 315 = %‘ Angle
63,5 B [ 80 ! [0.08] !
2
1 —
[1.74] [1.34] 7[1314]
44,1 34, [0.77]
o — 19,6

o

Rear Flange 8MA-147-1 On-Body Swivel Ball 827B-025-2

[1.47]
373
+0.004°
2X [062;31 ] [0.51] [0.57+3%94]
25 13 14,4700
7[0.94-4—84004]
24+91
[2.56] N o T
"
6 1 i [1.57]
| 40
T—D ' l
o
[0.55] _ [0.35]
14 9
01 [0.12]

= 28,3 r 3

Fasteners included.

Sheet Stops/Guards Kit 84A2-00001

@ESTQCD SG-CTG | 31 Dimensions and technical information are subject to change without notice

ASTABILUS COMPANY



	SG-CTG_Cam_Type_Grippers_US
	SG-CTG_84A_Cam_Type_Grippers_US
	SG-CTG_84A2_US
	SG-CTG_84AF2_US
	SG-CTG_84A3_US

	SG-CTG_84L_Cam_Type_Grippers_US
	SG-CTG_84L2_US
	SG-CTG_84L3_US





